’L{é/LiL ot K eap Lot

té\mouﬂ— @[M/oj u) @/h /ajm)
mmwmd\o + —
Cont ennn -+ -

ATL Owqege o wqpumopuiiencs
- {useof (()L} . léajw

~ extt _ max ()

_ Mc‘lca- ?'\)\o’l} l“a ()

PU/)\MW'A-Q \ \L«Z)’La\ Moce o @
wseck 0(1o4 .) O( 1)
ercraik _pnax (D(lo w) Ol

wndidy - puronily o(( m\ O (£

gwur‘)od c,oyﬂ‘«(;oaua /au:u& Qoi/t)
Cag Tom XOO»\Q

| X { — | <x 1z x 1
[,(f_( :[pav‘)/‘(-%“l\—:so"\

D\WQ ?%(’M&(w oroof”n«/(je,m

00 VR_e> a



def quick_sort(array, left, right):
if right <= left + 1:
return

pivot = random.randint(left, right - 1)

mid = partition(array, pivot, left, right)

quick_sort(array, left, mid)
quick_sort(array, mid + 1, right)

return array

def partition(array, pivot, left, right):

x = array[pivot]
swap(array, pivot, right - 1)
m = left
for p in range(left, right - 1):
if array[p] < x:
swap(array, p, m)

m+=1

swap(array, m, right - 1)
return m
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def quick_sort3(array, left, right):
if right <= left + 1:
return
pivot = random.randint(left, right - 1)

(m1, m2) = partition3(array, pivot, left, right)

quick_sort3(array, left, m1)
quick_sort3(array, m2, right)

return array

def partition3(array, pivot, left, right):
x = array[pivot]

swap(array, pivot, right - 1)

m = left
p = left
q = right - 1
while p < q:
if array[p] == x:
q-=1
swap(array, p, q)
else:

if array[p] < x:
swap(array, p, m)
m+= 1

p+=1

for i in range(q, right):
swap(array, m + i - q, i)

return m, m + right - q



